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3.	
  

	
  
	
  
8.	
  

	
  
	
  
	
  
	
  
	
  
	
  

Given:

Prove:

O
AB ≅ AC

AD ⊥ bis. BC

Statements Reasons

D

C

O
A

B

If a ⊥ is drawn from T to PA, what will be the coordinates of the point where the ⊥ intersects PA?

A (16,1)

R (11, 3.4)T (6.82, 3.4)

P (2, 1)
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9.	
  

	
  
12.	
  

	
  
	
  
	
  
	
  
	
  

If CAP is slid along the x-axis until C is at (11, 0), what will be the new coordinates of P?

A (11, 0)

P (9, 3)

C (5, 0)

Given:

Prove:

AB ≅ BC
AE ≅ EC

AD ≅ DC

Statements Reasons

F

C

B D

A

E
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17.	
  

	
  

Given:

Prove:

F is midpt. of BC
DB ≅ EC
DB ⊥ DF
EC ⊥ EF

AF ⊥ BC

Statements Reasons

ED

F
B C

A
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20.	
  

	
  

Given:

Prove:

AB ≅ BC
AE ≅ EC

AD ≅ DC

Statements Reasons

C

A

DB E


